Use square root property to solve each equation..

3p^2 + 36 = 0

(x + 10)^2 = 11

Add proper constant to each binomial so that the resulting trinomial is a perfect square then factor the trinomial

x^2 – 8x + __________________

x^2 – 2x – 2 = 0

6x^2 – 3 = 6x

Solve equation with real number solutions

y^2 + 6y – 8 = 0

Use quadratic to solve equation with real number solutions

1/2y^2 = y + ½

9x^2 = x + 2 = 0

3y^2 + 6y + 5 = 0

9x^2 + 1 = 6x

Solve.

5/x – 2 + 4/x + 2 = 1

x^4 + 2x^2 – 3 = 0

9x^4 + 5x^2 – 4 = 0

